FRIDAY 15:40 - 13:30

Section: Name & Surname: M&E__
Math 119 Spring 2021-2022 5
Quiz No: 04 ID Number: __OL_UI'_QN__

Date: 27.05.2022
Time Limit: ~12 Minutes Grade:

1. Calculate the lower and upper Riemann sums for the function f(z) = 5 — z? on the interval
[1,2], corresponding to the partition P of [1,2] into four subintervals of equal length.

é )
P:?l’%,rl“[}’z} 13 'H'C t7(4°l IQ/@"H'\

PQ(’{“LJM O/f [ 4;2] WH“\ Axi = i.. = (1:_:‘;&)

On ~he TA%C/VC\‘ [1;2] ,-p 13 dzc(‘coi‘ﬁnj

L(£,P)- 10{%)4'"' + f(3 )Axa-tf(%)d’(gr-fm‘li\z

- 55, 4 1 l.
—{th,*t,%,*%-'f,* _(7L

(4 3L
Upper Riconarn 3 _
[15]s Max £(t]=4 U P) = A0 ) Axy 415 )dxg+ 13 )axs +F[2 )4y,
<

= 4. s I, .
[3.3) Merf13)=322 IR R Rt -
3 tq’ . Max 7C‘ =.!.!. - _QIL _:—i:)«
[2. -c,}' X %») Z = 64 31

a'\‘fzt
[21}]/%)( {‘".Z(Jb



